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INSTRUCTIONS

Answer all questions.
All questions carry equal marks.

" Only one answer is to be given for each question.

If more than one answers arc marked, it would
be treated as wrong answer.

Each question has four alternative responses
marked serially as 1, 2, 3, 4. You have to darken
the comect answer,

There will be no negative marking for wrong
answer. ' _

The candidate should ensure that Roll Number,
Subject Code and Series Code on the Question
Paper Booklet and Answer Sheet must be same
after opening the envelopes. In case they are
different, a candidate must obtain another
Question Paper of the same series. Candidate
himself shall be responsible for ensuring this,
Mobile Phone or any other electronic gadget in
the examination hall is strictly prohibited. A
candidste found with any. of such objectionable
material with him/her will be striclly dealt as per
rules.

The candidate will be allowed to carry the carbon
print-out of OMR Response Sheet with them on
conciusion of the examination.

If there is any sort of ambiguity/mistake cither
of printing or factual nature then out of Hindi
and English Version of the question, the English
Version will be treated as standard.

' Wammg If a candidate is found copymg or if

amy unauthorised material is found in
histher possession, F.LR. weuld be
lodged against him/her in the Police
Station and he/she would liable to. be
prosecuted under Section 3 of the
R.PE. (Prevention of Unfairmeans)
Act, 1992. Commission may alse
debar him/her permanently from all
future exammatlons of ' the
Commission. - :
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1 Which of the following shows Cannizaro's reaction :

() CH;—C—CH, (2 CH;—CHO
- I
O
- (3y. CHy-—CH,-—OH (4)  Ph—CHO

R ¥ A A AR o @i b 7

(1) CH,—C—CH, (2) CH,—CHO
! I '
O
(3) CH3—CI—I2.—~OH 4) Ph—CHO

2 Which of the following transitions are not allowed in electronic

spectroscopy : |

(D) n-n - @ n-n*

®) o-o* @ n-o*

e AR ¥ e ¥ @ Y e ot T %
M nonr @) m-m*

() o-~o* 4) n-c*

3 Quinoline is synthesised by :
(1) Bischler Naperalski rﬁ_ethod
| (2) Skraup synthesis
(3) Fischer indol synthesis
 (4) Beckmann Rearrangement
-Eﬂfﬁ?ﬁ? o de R o ¥
(1) fwr Y B @
(2) BB HYAWY
() PR i@ dww
(4) IH TR
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4  The resonance energy in thiophene is about :

(1) 96.5 kJ/mol / (2) 117.0 kJ/mol

(3) 150.6 kJ/mol (4) 130.0 kJ/mol
by

TG ¥ ST e B ¥ - i i

(1) 96.5 kJ/mol (2) 117.0 kJ/mol Y o

(3) 150.6 kJ/mol 4) 130.0 k¥mol

5 (>3 The resonance energy of pyridine is 125 kl/mol and that of benzene is .
1506 kJ/mol. The reactivity of aromatic electrophlhc substitution will be :

(1) Benzene is more than Pyridine

(2) Pyridine is more than Benzene

| [ Ay
(3) Both have same reactivity v
(4) Pyndine is a heterocyclic and have more reactivity | i "Ny
R #t ergme e 125 Ki/mol 9o SR #1506 kl/mol ¥, a3 i,
Tiifed goagm W ufrener ¥ Remoden @of — -

AR

1) = @ rdm ¥ sy

v) ﬁﬂeﬁqm"raﬁm%m

C(3) < @ femshear wum eRlt .

@) Tew o ¥ swel St e

6 The order of basicit§ between Pyrrol, Pyridine and Piperidine is :
(1) Pyridine > Piperidine > Pyrrol
(2) Pyrrol > Piperidine > Pyridine
(3) Piperidine > Pyrrol > Pyridine
(4) Piperidine > ‘Pyridine > Pyrrol
T, Rfdw qm RS ¥ awemr @ oww ¥
@ iR > mifds > e
'<2) Wt > i > fafed
) wERfER > TEw > R
(@) wfitEE > e > e
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* propane, the reaction is :

(1) onN! @ sN?

1y sn! (2 sn?
(3) gl @) Ez

01 / CHESCI2 |
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During aromatic electrophilic substitution reaction the ring that may get
opened most easily is :
\/(1) Furan 2) Thiophone
© (3) Pyrrol . (4) Benzene
Wﬁﬁﬁgﬁ@ﬁaﬁr&mﬁﬁﬁ—mwmmﬁ%km'
g Tl E - >;
(1) W - () awrH -
(3) B 4y = 5\
'Hydroboration - oxidation_of t-Butene is : 'i
(1) Nucleophilic addition reaction )} . Jl
(2) Nucleophilic substitution reaction 7
(3) Markonikoff's addition reaction 2 ¢ t
(4) Peroxide effect A
1= B TRERIGT - ARHTT % ~ "57“*"_'-'"1
(1) e TS drem sttt N
() Tiwe e iR it¥rfena
(3) HREIER® AMES Aflha
(4) WFEEs THHE
Dehydrohalogenation of tert. halide giving a more substituted alkené is :
(1) Markonikoff's Rule (2) Saytzeff's Rule
(3) Hofmann Rule '(4)  Anti Markonikoff's Rule
R tes & dRESiEeEE o st w9 ¥, |
(1) wRETEE = fem () Y9m w1 Pew |
(3) FwRT W few @ wEERERs w e
{
2-Bromo - 2 - methyl propane when con_werted to 2 - Hydroxy - 2 - methyl
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11 Coordition number of Co in [Co(en),Cl, | is :
1 2 | (2) 4
G) 6 @ 8
[ Colen), CL, | ¥ Co @ v e ¥ -
(2 2 4
@) 6 - _ 4) 8

12  The EAN of Cr°t in [CT(N_H3)6:|C13 is :
(1) 32
@ 33
(3) 34
4) 35

i) Jor, % o man -

(1) 32
2) 33
O 3) 34
(@) 35

2+ _
13 The geometry of [Pt(NH3)4] will be :

(1) Pyramidal (2) Tetrahedral
(3) Square planar (4) Pentagonal

' 2+ ' '

[P(rm,), | o e e |

O frfem | () TgEEHE
@) = wEE 4) ST

n /P’ﬁ"mr*m_ Al . 5 (L {1H T (] T g |
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14 Which of the following has the highest Ionization potential :

15

16

01/CHESCI22 A] - 6 ~ [EII - [Contd...

(1) Na (2) Al
(3) Mg (4 K
P ¥ ¥ fewe omee R e @
(1) Na @) Al

() Mg @ X

The screening effect is maximum for electron in :
(1) s - orbital
{(2) p - orbital
(3) d - orbital
(4) f - orbital

O L b e S

(1) s - =&

(2) p - PED
G) d - wuwm

) f- wow

In B,H, each Boron atom is hybridized :

(1) sp 2) sp?
@) sp? | @ dsp?

'BzHé,ﬁmaﬁﬁmﬁWww%:

(1) sp | 2) sp?

(3) sp’ _ (4) dsp?
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17 - Which of the following is paramagnetic ?

o O o
® co . @ No+
Pt ¥ air g § 7

1 O (2 oN
3) co - - @ No*t

18 The inert pair effect is maximum in :

M N - @ P
@) As @ B
- ofeT — o e et Rea & B 7

1 N o @ P

S B) As | @) Bi

19  Which is not a Lewis Acid ? _
(1) BF, @  AlCl

(3) BeCl, B @) . NH;
BT T oA T ¥ 7 |
) BFy @ A

(3) BeCl, - | 4) NH,

20 . Which of the following is an aprotic ‘solvent ?

(1) HO (2) HF
3) CH.0H @
P % B Ramm o ¢ 2
1) HO0 . @ w¥
() GHOH - @ CeHg
01/CHESCI22 A 7 MM Contd...
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21 Which of the following is not a thermodynamic property of the system
M w @ S
e o | @ M
» .ﬁwﬁ%gﬁqwmﬁmmmmgwﬂﬁ%:
0 w @ S
(3 H ' @ M
22 Phase Rule is given by E
W Nemst
@ Gibbs
(3) Planck
. (4) Einstein
v fram R -
1) =
- (2) P
¢ w
@ S
23 The law which reIates the solublhty of a gas ‘with pressure
(D) Dlstnbutlon Law (2) * Ostwald's Law
.(3) Raoults Law 4 .I-Ienry's L#w
ﬁsﬁm@hﬂﬁaﬁﬁ‘éﬂmaﬁm%mﬂwﬁmm%
O Rt () s b
O i-@_).%ﬁ%rﬁm_ '_
0l/CHESCI22 A] s N (Cona.
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24  Electrolytic conduction is due to the movement of :
(1) Tons (2) Electrons

3) Atoms (4) Both Ions and Electrons
P omgen wrwa A % B AR ¥ |
@ S
(4) oEE T gEwR™ A

OB L -

(3) Ty

25 Which of the following factor does not influence the rate of reaction ?

B (1) Concentration of the reactant
(2) Nature of the reactant
" (3) Temperature

(@) Molecularity -

Prr & 5 2 @ & i o o <T@ FR e § 7
(1) Prmrs & wiE |

) Peawrs & wgl

() |

. (@) sgEera

26 The Activity of enzyme'is lowered due to the presence of :

- (1) Activator

(3) Indicator

(2) Inhibitor

(4) Promotor

wa&a%qma?cﬁ% wﬁaﬁr@f

01 / CHESCI22 A}
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27

28

30

Which of the following can act as protective colloid ?
(1) Gelatin (2) Silica gel'
(3) Gold sol (4) Copper sol

P R BT Tl Hlgs H TE Y HE T 7

(1) e _ () T 99
() w9 E @) FR Tw

The number of atoms in a unit cell in BCC arrangement is :

(1 i 2 2

3 3 @ 4 |

FE Hwd THE TS § U THF HReEH TN @ §@m
(1) 1 @ 2

@) 3 @ 4

The crystal lattice of KCI shown by X - Ray is -

(1) BCC 2) FCC

(3) Simple cubic 4 JHexagonal
X-W&WWKCIH&WW&%‘E‘%:
(1) @@ Hrag " (2) ™D Biwg =G

(3) W =" (4) wemifyg

The process of polymerisation is :

(1) Cyclic (2) Endothermic
(3) Exothermic - (4) Isochoric
(1) wwr (@) I
(3) wwnAW (4) wHEE D

0l/CHESCR22_ A] 10 MIEIAL {Coned...
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31 A reaction following E! mechanism forms :

(1) Carbanion | (2) Carbon free radical
(3) Carbonium ion ) (4) m-complex

E! frofadt gra em ol efufen & =wen

(1) ®ET FoTE ) wET FHEEEH

G) wEF TR 4) 7 -BEEE

- 32 The directive influence of ~NH2 under acidic medium is :
() o-andp - 2 o- andm -
0) (3) only m - (4) only p -

-NH, @ & v wemd ¥ e e g ¥
(1) o-wup - I(?)‘O-Hﬂ'rm-

(3) %aw m - 4) ®Had p -

33 .A reaction of aniline with HNOz at Q°C 1is called :

(1) Nitration (2) Oxidation
(3) Diazotisation (4) Reduction _
oieE ® aithiear HNO, & @ 0°C WX #hgaidl & —
(1) RS (2) SR
- (3) EEUSRERT GEEErE
34 Which of the following on thermal decomposit'ion can give an alkene ?
(1) An Acid {2) An Anmude
(3) An Ester (4) An Anhydride
Bra ¥ & @ar 0 omEeT W TET Y W ¥
(1) e | (2) uHEE

() TR . @) s

'35 A Haloform on Hydrolysis gives :

(1) A ketone (2) An aldehyde e
(3) An acid ' 4) An_ alcohol ’{ :
e W e w U E

M @ @) s

() Ut 4) uwEd

01/ CHESCI22_A] 11 INIUII EContd..
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36 Zeisel's method is used to estimate :
(1) Hydro')q'zl group (2) Carbonyl group
(3) Carboxy] group (4) Methoxy group
- fafrem Rl zo e @ SRR -
(1) wEghEe oF @ @ wEtw g @
(3) wEieae aqE & ) Preiwd wE W
37 Which of the following is the strongest base ?
(1) LiOH (2) NaOH
(3) KOH (4) CsOH
7 & veeaw s dm @ % 7
(1) LiOH (2) NaOH
~(3) KOH (4) CsOH
38 - Which is the most volatile compound :
(1) ' HF (2) HCI
(3) HBr | (4) HI
P ¥ B aftemen aersha At ¥
(1) HF : (2) HC
(3) HBr | (4) HI
39 The gas which is filled in an electric ilb
(1) He _ (Z) Ne
(3) Ar _ 4) Rn
g o A wh o A A d
(1) He - - (2) Ne
@) Ar 4) Ran
40  All the actinides show a vallenc.y of :
1 2 ‘ @ 3
@ 4 @ 6
afl W B-T wewan T ¥ o
1 2 , : 2 3
BE) I “4) 6
01 / CHESCI22 A] ., 12
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41

42

43

- Which of the following forms a stable +4 oxidation state :

1) La @ Eu
® G @) Ce
e & @ o9 +4 wrll siwdeor s qofar & -
(1) La (2) FEu
®) Gd | ) Ce

Asthama patients use for respiration a mixture of

(2) O, and He

3} 0, and Ar

4) 0O, and Ne _

MeHT W WY @F § e g o s v 2 -
(1) OZIH?I{HQ

(é) 0, T He

(3) O, T Ar

(4 0, gt Ne

Compound with the formula Na,Al,Si, O xH,, is called :

(1) Glass (2) Asbestos

'_(3) Zeqlite 4) Quartz.

Na,ALSi, O, xH,, T a® it wew &
() =@ - (2) UEEEd
Q) _Rﬂahr-rst (@) wEw

01/ CHESCI22_A] - 13 - ||“|||"||||||||"| [Contd...
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44 The Halogen which is used as Analgesic is !

1€ cl (2) Br
3) 1 (4) F
g% de frem swEm deErl @ We fear S ¥ e
1 d (2) Br
3 I 4y F
45 Which of the following has the largest size in aqueous solution ?
(1) Rb* . (@ Na*
(3) KT : @ Lt _
frer & ¥ Pruad sl Rreaw ¥ oftreew amw @l ?
() Rb* (2) Na*
3 Kkt @ Lit

' ' 1
46 KK, for the reaction C0+502 =CO0, is :

_ 1

M rT @ Rt
. 1

@ RT @ RxT

afifpm CO+50,=C0, & R KyK, 1 7 2m — o

- ' 1
(I) RT 2) JRT

- 1
® JRT @ =5

47 Energy equivalent to one erg, one joule, one calorie are in order :
1) leg>17J>1Ca 2) lerg>1Cal>1]
3) 1Ca>171>1erg 4 1J>1Ca>1 erg
TH o, TH qW, TS TH bW b G G @ B9 § !
() 1ert>i1g@>1%A0 () laﬁ>1qﬁ'&'>1-q§r‘ |
@) 1ERA>1wgEslat (@) 1 @>ldAv>1et |

01 / CHESCI22 A] 14 | ||"||||m| |||| |“| [Contd...
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48  The value of AH in diluting solution : ' ‘

(1) Decreases
(2) Increases
(3) Increases as well as decreses

(4) Constant
-Aﬂmmﬁﬁﬁlﬁf{:

(1) w=ear &

(2) wow ¥ |

() o o ¥ W me 2
@) R e ¥

49  Which polymer is manufactured from chloroethene :

(1) Tefflon | @) PVC

(3 Poly}ethene (4) Nylon
TR ¥ Rpw wgaw w P dar ¥ o

(1) TeiT | @ oA
@) W e @ T

50  The conductivity of the solution is the sum of individual contribution from
cation and anion, this law is called :

(1) Kohlrausch's Law (2) Faraday's Law
(3) Ostwald's Law - (4) Debye Huckel's Law

WW&WWW@M%WWWW
oW %, W fem oy

(1) BREy Frm 2) w Frm
(@) wieaws fmm @) REg - s Prm

01/ CHESCI22_ A} 15 ) T [Contd...
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